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Theorem 5 1

1. Two distinct ... in a plane cannot have

more than one point in common.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QcuJT5MuoiJ3

° Watch Video Solution

Theorem 6 1

1. If two lines intersect prove that the vertically

opposite angles are equal

o Watch Video Solution

Theorem 6 2


https://dl.doubtnut.com/l/_QcuJT5MuoiJ3
https://dl.doubtnut.com/l/_GO8QIRy74XFL

1. Theorem 6.2 : If a transversal intersects two
parallel lines, then each pair of alternate

interior angles is equal.

o Watch Video Solution

Theorem 6 3

1. Theorem 6.3 : If a transversal intersects two

lines such that a pair of alternate interior

angles is equal, then the two lines are parallel.

| e |


https://dl.doubtnut.com/l/_76rXnePEHPTQ
https://dl.doubtnut.com/l/_rxIxOVaGaEBP

& Wwatch Video Solution ]

Theorem 6 4

1. Theorem 6.4 : If a transversal intersects two
parallel lines, then each pair of interior angles
on the same side of the transversal is

supplementary.

o Watch Video Solution

Theorem 6 5


https://dl.doubtnut.com/l/_rxIxOVaGaEBP
https://dl.doubtnut.com/l/_V2VEST3tg2Mt

1. Theorem 6.5 : If a transversal intersects two
lines such that a pair of interior angles on the
same side of the transversal is supplementary,

then the two lines are parallel.

° Watch Video Solution

Theorem 6 6

1. Theorem 6.6 : Lines which are parallel to the

same line are parallel to each other.

| e |


https://dl.doubtnut.com/l/_ywiOVxLctplO
https://dl.doubtnut.com/l/_9wQ1hvdGL5tN

& Wwatch Video Solution ]

Theorem 6 7

1. Prove that the sum of the three angles of a

triangle is 180°.

o Watch Video Solution

Theorem 6 8


https://dl.doubtnut.com/l/_9wQ1hvdGL5tN
https://dl.doubtnut.com/l/_ZmNY6A5lEXQY

1. (Exterior Angle Theorem): If a side of a
triangle is produced, the exterior angle so
formed is equal to the sum of the two interior
opposite angles. GIVEN : A triangle ABC, D is
a point of BC' produced, forming exterior
angle Z4. TO PROVE : /4 =/1+ /2 ie.,

LACD = L/CAB + ZCBA.

o Watch Video Solution

Theorem 7 1


https://dl.doubtnut.com/l/_Gw4f4mvwPhM4
https://dl.doubtnut.com/l/_4u8H0BRYJ63V

1. Angle-Side-Angle (ASA) Congruence - Two
triangles are congruent if two angles and the
included side of one triangle are equal to the
corresponding two angles and the included

side of the other triangle.

° Watch Video Solution

Theorem 7 2

1. Theorem 7.2 : Angles opposite to equal sides

of an isosceles triangle are equal.



https://dl.doubtnut.com/l/_4u8H0BRYJ63V
https://dl.doubtnut.com/l/_joAQM7h696OT

o Watch Video Solution

Theorem 7 3

1. Theorem 7.3 : The sides opposite to equal

angles of a triangle are equal.

° Watch Video Solution

Theorem 7 4


https://dl.doubtnut.com/l/_joAQM7h696OT
https://dl.doubtnut.com/l/_Bs1S7A1UjARg

1. Theorem 7.4 (SSS congruence rule) : If three
sides of one triangle are equal to the three
sides of another triangle, then the two

triangles are congruent.

° Watch Video Solution

Theorem 7 5

1. Prove that Two right triangles are congruent

if the hypotenuse and one side of one triangle


https://dl.doubtnut.com/l/_dMA1CETxMOOp
https://dl.doubtnut.com/l/_swldRP6YEWPz

are respectively equal to the hypotenuse and

one side of the other triangle.

° Watch Video Solution

Theorem 7 6

1. Theorem 7.6 : If two sides of a triangle are

unequal, the angle opposite to the longer side

is larger (or greater)

° Watch Video Solution



https://dl.doubtnut.com/l/_swldRP6YEWPz
https://dl.doubtnut.com/l/_osNmlzsWXsaS

Theorem 7 7

1. Theorem 7.7 : In any triangle, the side
opposite to the larger (greater) angle is

longer

° Watch Video Solution

Theorem 7 8

1. Theorem 7.8 : The sum of any two sides of a

triangle is greater than the third side.


https://dl.doubtnut.com/l/_MFdZhnvUEnQg
https://dl.doubtnut.com/l/_rS0r43lgfKQh

° Watch Video Solution

Theorem 8 1

1. A diagonal of parallelogram divides it into

two congruent triangles.

o Watch Video Solution

Theorem 8 2


https://dl.doubtnut.com/l/_rS0r43lgfKQh
https://dl.doubtnut.com/l/_d4Kld9snGZIO

1.In a parallelogram, opposite side are equal

o Watch Video Solution

Theorem 8 3

1. Theorem 8.3 : If each pair of opposite sides

of a quadrilateral is equal, then it is a

parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_YQzey9k0FXNw
https://dl.doubtnut.com/l/_6yv6yyJQSXNi

Theorem 8 4

1.In a parallelogram, opposite side are equal

° Watch Video Solution

Theorem 8 5

1. Theorem 8.5 : If in a quadrilateral, each pair

of opposite angles is equal, then it is a

parallelogram.

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_sqR2X3AfSVBJ
https://dl.doubtnut.com/l/_Mf3GPo835Lfs

Theorem 8 6

1. The diagonals of a parallelogram bisect each

other.

° Watch Video Solution

Theorem 8 7



https://dl.doubtnut.com/l/_Mf3GPo835Lfs
https://dl.doubtnut.com/l/_VqZzbCRTDssQ

1. If the diagonals of a quadrilateral bisect
each other, then the quadrilateral is a

parallelogram.

o Watch Video Solution

Theorem 8 8

1. A quadrilateral is a parallelogram, if its one

pair of opposite sides are equal and parallel.

o Watch Video Solution



https://dl.doubtnut.com/l/_6FRgLpJMUDlh
https://dl.doubtnut.com/l/_inqK7EPNJKkZ

Theorem 8 9

1. Prove that the line joining the mid-points of

the two sides of a triangle is parallel to the

third side.

o Watch Video Solution

Theorem 8 10


https://dl.doubtnut.com/l/_inqK7EPNJKkZ
https://dl.doubtnut.com/l/_38XVcANRHX8U

1. Theorem 810 : The line drawn through the
mid-point of one side of a triangle, parallel to

another side bisects the third side.

o Watch Video Solution

Theorem 91

1. Prove that Parallelograms on the same base
and between the same parallels are equal in

area.

| e |


https://dl.doubtnut.com/l/_CG0aF3eVGFQo
https://dl.doubtnut.com/l/_4Z4PNMojH9TH

& Wwatch Video Solution ]

Theorem 9 2

1. Triangles on the same base and between the

same parallels are equal in area.

o Watch Video Solution

Theorem 93


https://dl.doubtnut.com/l/_4Z4PNMojH9TH
https://dl.doubtnut.com/l/_cnhkmdDcs3id

1. Prove that two triangles having the same
base and equal areas lie between the same

parallels.

o Watch Video Solution

Theorem 10 1

1. Prove Equal chords of a circle subtend equal

angles at the centre.

o Watch Video Solution



https://dl.doubtnut.com/l/_3Ky5STpLvN9R
https://dl.doubtnut.com/l/_qOhqSA10ApPX

Theorem 10 2

1. If the angles subtended by two chords of a
circle at the centre are equal, then Prove

chords are equal.

o Watch Video Solution

Theorem 10 3


https://dl.doubtnut.com/l/_qOhqSA10ApPX
https://dl.doubtnut.com/l/_Po21qLQ3n1eM

1. The perpendicular from the centre of a circle

to a chord bisects the chord.

o Watch Video Solution

Theorem 10 4

1. (Converse of Theorem 3) The line joining the

centre of a circle to the mid-point of a chord is

perpendicular to the chord.

o Watch Video Solution



https://dl.doubtnut.com/l/_jsVRfRbfASZa
https://dl.doubtnut.com/l/_p1PEPPiVj88G

Theorem 10 5

1. Statement 1: The differential equation of all
circles in a plane must be of order 3.
Statement 2 : There is only one circle passing

through three non-collinear points.

° Watch Video Solution

Theorem 10 6


https://dl.doubtnut.com/l/_p1PEPPiVj88G
https://dl.doubtnut.com/l/_1xV6fa6MMdXw
https://dl.doubtnut.com/l/_9gPHcjS5EyNU

1. Equal chords of congruent circles are

equidistant from the corresponding centres.

o Watch Video Solution

Theorem 10 7

1. Chords of a circle which are equidistant from

the centre are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_9gPHcjS5EyNU
https://dl.doubtnut.com/l/_7TcrUojW0MX6

Theorem 10 8

1. Theorem 10.8 : The angle subtended by an
arc at the centre is double the angle
subtended by it at any point on the remaining

part of the circle.

o Watch Video Solution

Theorem 10 9


https://dl.doubtnut.com/l/_7S8QmY0eYB09

1. Prove that angle in the same segment of a

circle are equal.

o Watch Video Solution

Theorem 10 10

1. Theorem:- If the line segment joining two

points subtends equal angles at two other

points lying on the same side of the line


https://dl.doubtnut.com/l/_kJ4zsrmB9s2y
https://dl.doubtnut.com/l/_6c5bawiffIs1

segment; the four points are concyclic. i.e lie

on the same circle.

° Watch Video Solution

Theorem 10 11

1. Theorem 1011 : The sum of either pair of

opposite angles of a cyclic quadrilateral is

180

° Watch Video Solution



https://dl.doubtnut.com/l/_6c5bawiffIs1
https://dl.doubtnut.com/l/_v8GTCuez44R0

Theorem 10 12

1. If the sum of any pair of opposite angles of a
quadrilateral is 180°, then the quadrilateral is

cyclic.

° Watch Video Solution



https://dl.doubtnut.com/l/_KpHJQBOCuYvN

